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Question1:-What was the original name of Nana Saheb?

        A:-Barkhatullah

        B:-Govind Dhondu Pant

        C:-G.V. Joshi

        D:-Tharanath Das

        Correct Answer:- Option-B

Question2:-The American War of Independence was ended by the Treaty of

        A:-The Treaty of Portsmouth

        B:-The Treaty of Lausanne

        C:-The Treaty of Versailles

        D:-The Treaty of Paris

        Correct Answer:- Option-D

Question3:-Who was the author of "Hastayurveda"?

        A:-Palkapya

        B:-Kamandaka

        C:-Panini

        D:-Kalhana

        Correct Answer:- Option-A

Question4:-In which year the States Re-organization Act was passed?

        A:-1949

        B:-1956

        C:-1947

        D:-1950

        Correct Answer:- Option-B

Question5:-Who was the Chariman of the Philadelphia Convention of 1787?

        A:-Thomas Jafferson

        B:-James Madison



        C:-George Washington

        D:-Alexander Hamilton

        Correct Answer:- Option-C

Question6:-Who is the current Director General of World Health Organization?

        A:-Dr. Tedros Adhanom Ghebreyesus

        B:-Rafael Mariano Grossi

        C:-Gerd Muller

        D:-Masatsugu Asakawa

        Correct Answer:- Option-A

Question7:-Match List I and List II, and select the correct answer from the options
given below :
         List I                     List II
(a)  Isobars               1.  Duration of sunshine
(b)  Isotherms           2.  Rainfall
(c)  Isohel                 3.  Temperature
(d)  Isohyets             4.  Pressure

        A:-(a)-4, (b)-3, (c)-1, (d)-2

        B:-(a)-2, (b)-1, (c)-4, (d)-3

        C:-(a)-3, (b)-4, (c)-2, (d)-1

        D:-(a)-2, (b)-4, (c)-1, (d)-3

        Correct Answer:- Option-A

Question8:-Consider the following statements on earthquake waves :
1.  P waves travel at the greatest velocity through the earth
2.  S waves can travel through both solid and liquid medium
3.  L waves are more destructive.
     Identify the correct statement (s) from the options given below :

        A:-1 and 2 are correct

        B:-1 and 3 are correct

        C:-2 and 3 are correct

        D:-all are correct

        Correct Answer:- Option-B

Question9:-Arrange the following Peninsular rivers of India from North to South.
1.   Godavari
2.   Mahanadi
3.   Kaveri
4.   Krishna

        A:-2, 1, 4, 3

        B:-1, 2, 4, 3

        C:-3, 4, 1, 2

        D:-4, 1, 2, 3



        Correct Answer:- Option-A

Question10:-Which country shares longest boundary with India?

        A:-China

        B:-Bangladesh

        C:-Pakistan

        D:-Afganistan

        Correct Answer:- Option-B

Question11:-Which of the following district of Kerala has no coastal area?

        A:-Malappuram

        B:-Thrissur

        C:-Kasaragod

        D:-Kottayam

        Correct Answer:- Option-D

Question12:-Which state won the UN Habitat's World Habitat Award 2023 for JAGA
Mission?

        A:-Karnataka

        B:-Tamilnadu

        C:-Odissa

        D:-Rajastan

        Correct Answer:- Option-C

Question13:-Vice chairperson of NITI Aayog is

        A:-Shri Narendra Modi

        B:-Rao Inderjit Singh

        C:-Shri Amitabh Kant

        D:-Dr. Rajiv Kumar

        Correct Answer:- Option-D

Question14:-Select the correct statement/statements about PURA (Providing Urban
Amenities in Rural Areas) :
(i)    A Neo Gandhian Approach to development
(ii)   Lever of economic upliftment of the villages
(iii)  PURA concept was given by former President Dr. A.P.J. Abdul Kalam.

        A:-(i) and (ii)

        B:-(i) and (iii)

        C:-(ii) and (iii)

        D:-(i), (ii) and (iii)

        Correct Answer:- Option-D

Question15:-Identify the wrong statement/Statements given below :
(i)    GST council is chaired by the Union Finance Minister



(ii)   GST is a direct tax
(iii)  GST was implemented on 1st July 2017 in India
(iv)  IGST is the tax collected by the Central Govt. for an intra state sale

        A:-(i) and (ii)

        B:-(ii) and (iv)

        C:-(i) and (iii)

        D:-(i) and (iv)

        Correct Answer:- Option-B

Question16:-Which Five year plan focussed on 'Growth with Social Justice and
Equality'?

        A:-Fifth Five Year plan

        B:-Ninth Five Year plan

        C:-Fourth Five Year plan

        D:-Twelfth Five Year plan

        Correct Answer:- Option-B

Question17:-GSTIN refers to

        A:-GST Identification Number

        B:-GST Information Number

        C:-GST Information and Network

        D:-General Sales Tax Identification Number

        Correct Answer:- Option-A

Question18:-Chairman of National Bank for Agriculture and Rural Development
(NABARD) is

        A:-Dr. M.D. Patra

        B:-Dr. Urvish Shah

        C:-Dr. G.R. Chintala

        D:-Ms. Revathy Iyer

        Correct Answer:- Option-C

Question19:-In Menaka Gandhi V/s Union Case (1978) supreme Court pointed out
"Golden Triangle". Which articles comes under this category?

        A:-14, 19, 21

        B:-14, 15, 19

        C:-19, 20, 21

        D:-20, 21, 22

        Correct Answer:- Option-A

Question20:-'The State Shall endeavour to provide early childhood care and
education for all children until then complete the age of six years' - which article of
Indian Constitution state this



        A:-Article 51 (A)

        B:-Article 45

        C:-Article 21-A

        D:-Article 21

        Correct Answer:- Option-B

Question21:-Which of the following statement is/are correct about the other
functions of Constituent Assembly?
1.   It ratified the Indias membership of the commonwealth in May 1949
2.   It adopted the National Flag in July 22, 1947
3.   It elected Dr. Rajendra Prasad as the first Indian President on January 24, 1950.

        A:-only 1 and 2

        B:-only 2 and 3

        C:-only 1 and 3

        D:-all of the above

        Correct Answer:- Option-D

Question22:-"To develop scientific temper, humanism and spirit of inquiry and
reform', is a fundamental duty under Part IV-A of the Indian constitution.
Point out the exact article :

        A:-51-A(b)

        B:-51-A(e)

        C:-51-A(h)

        D:-51-A(k)

        Correct Answer:- Option-C

Question23:-Which of the following judges laid the foundations of Judicial activism
in India?
1.   V.R. Krishna Iyer
2.   P.N. Bagawati
3.   O. Chinappa Reddy
4.   D.A. Desai

        A:-2, 3, 4

        B:-1, 2, 3

        C:-1, 3, 4

        D:-1, 2, 3, 4

        Correct Answer:- Option-D

Question24:-Which of the following subjects is/are come under the concurrent list?
1.   Marriage and divorce
2.   Population control
3.   Newspapers
4.   Insurance

        A:-1, 2, 3 and 4



        B:-1, 2 and 3

        C:-2, 3 and 4

        D:-1, 3 and 4

        Correct Answer:- Option-B

Question25:-Consider the following statements about "PLANSPACE". Which of the
following statement is/are correct about "PLANSPACE"?
(i)     The Intergovernmental Panel on Climate Change
(ii)    Initiated by Kerala State Planning Board
(iii)   Managed by Indian Institute of Information Technology and Management -
Kerala (IIITM-K)

        A:-only (i) and (ii)

        B:-only (i) and (iii)

        C:-only (ii) and (iii)

        D:-all of the above (i), (ii) and (iii)

        Correct Answer:- Option-C

Question26:-Vegetable and Fruit Promotion Council, Kerala (VFPCK) was formed in
the year

        A:- 1991

        B:-2001

        C:-2011

        D:-2021

        Correct Answer:- Option-B

Question27:-Which of the following statement is not correct about the State of
Kerala?

        A:-Silent Valley in Palakkad district is one of the bio-diversity hotspots in the
world

        B:-Kerala experiences a tropical climate

        C:-Geographically Kerala is divided into three parts - Highland, Mid plains and
coastal areas

        D:-There are four types of seasons in Kerala

        Correct Answer:- Option-D

Question28:-The 'Kerala Government Servants' Conduct Rules' was brought in the
year

        A:-1960

        B:-1956

        C:-1958

        D:-1962

        Correct Answer:- Option-A

Question29:-Which of the following statement is/are correct about the missions of



"Nava Keralam" (New Kerala)?
(i)    The LIFE (Livelihood, Inclusion, and Financial Empowerment) Mission
(ii)   The General Education Protection Mission,
(iii)  The Aardram Mission
(iv)  The Green Kerala (Haritha Keralam) Mission

        A:-only (i), (ii), (iii)

        B:-only (i), (ii), (iv)

        C:-only (ii), (iii), (iv)

        D:-all of the above (i), (ii), (iii) and (iv)

        Correct Answer:- Option-D

Question30:-Which of the following statement is not correct about Kerala State
Disaster Management Authority?

        A:-An autonomous body

        B:-Constituted under the Disaster Management Act, 2005

        C:-A statutory body

        D:-Chaired by Chief Minister

        Correct Answer:- Option-A

Question31:-Identify the correct schemes of the Department of Women and Child
Kerala
(i)    ASWASANIDHI
(ii)   NIRBHAYA
(iii)  SUPPLEMENTARY NUTRITION PROGRAMME

        A:-only (i) and (ii)

        B:-only (i) and (iii)

        C:-only (ii) and (iii)

        D:-all of the above (i), (ii) and (iii)

        Correct Answer:- Option-D

Question32:-By Section 46 of the Indian Constitution (Forty Second Amendment)
Act, 1976, after Part XIV of the constitution, Part XIV A was inserted which relates to

        A:-The powers of Speaker of Loksabha

        B:-Administrative Tribunal

        C:-The Jurisdiction of District collector

        D:-Legislature and Electoral process in States

        Correct Answer:- Option-B

Question33:-Select the answer from the codes given below which is wrongly
matched :

        A:-KILA (C.G.G) - Mannoothi

        B:-KILA (C.H.R.D) - Kottarakkara

        C:-KILA (C.O.F.W.M.) - Thalipparamba



        D:-KILA (C.S.E.D) - Mananthavady

        Correct Answer:- Option-D

Question34:-The Government of Kerala has designed a centralized Kerala Service
Portal called

        A:-"eSevanam"

        B:-"eMithram"

        C:-"eSanjeevani"

        D:-"eApplications"

        Correct Answer:- Option-A

Question35:-Government of Kerala upgraded IIITM-K to "Kerala University of Digital
Sciences, Innovation and Technology" in the year

        A:-On January 18, 2017

        B:-On January 18, 2018

        C:-On January 18, 2019

        D:-On January 18, 2020

        Correct Answer:- Option-D

Question36:-Which of the following statement is/are not correct about the activities
under the "Subhiksha Keralam" programme launched in 2020-21?
(i)    Bringing the arable fallow land under cultivation
(ii)   Popularization of Integrated Farming Systems, rain shelter cultivation
(iii)  Create awareness among the public on the status of pesticide residue in food
commodities, samples of vegetables and fruits

        A:-only (i)

        B:-only (ii)

        C:-only (iii)

        D:-none of the above

        Correct Answer:- Option-C

Question37:-Name the monitoring machine that shows voltage traces on a screen
which indicates the working of human heart

        A:-Spirometer

        B:-ECG

        C:-Stethescope

        D:-EEG

        Correct Answer:- Option-B

Question38:-Which is the photosensitive pigment present in the cone cells of
retina?

        A:-Iodopsin

        B:-Xanthophil

        C:-Chlorophil



        D:-Rhodopsin

        Correct Answer:- Option-A

Question39:-Write an example for a non renewable resources?

        A:-Meat

        B:-Crops

        C:-Forest

        D:-Petrol

        Correct Answer:- Option-D

Question40:-Name the organism which is popularly known as malarial parasite

        A:-Paramoecium

        B:-Plasmodium

        C:-Entamoeba

        D:-Planaria

        Correct Answer:- Option-B

Question41:-"Human vertebral column is formed by 26 serially arranged units
called vertebrae and is dorsally placed". Which is the first vertebral bone just below
the skull?

        A:-Axis

        B:-Condyle

        C:-Atlas

        D:-Sternum

        Correct Answer:- Option-C

Question42:-'In adult human being male testes are situated outside the abdominal
cavity with in a pouch'. Name the pouch

        A:-Pleura

        B:-Scrotum

        C:-Pericardium

        D:-Mesovarium

        Correct Answer:- Option-B

Question43:-'Deficiency of this hormone leads to a major lifestyle disease called
diabetes mellitus'. Name the hormone.

        A:-Insulin

        B:-Oxytocine

        C:-Thyroxine

        D:-Glucagon

        Correct Answer:- Option-A

Question44:-Which is the lowest region of atmosphere subjects to differential



heating and extends from the surface of earth upto a height of 8-10 km?

        A:-Stratosphere

        B:-Troposphere

        C:-Ozonosphere

        D:-Mesosphere

        Correct Answer:- Option-B

Question45:-Moseley's law for characteristic X rays is

        A:-

        B:-

        C:-

        D:-

        Correct Answer:- Option-B

Question46:-The force acting on a body is doubled and mass is halved. What will be
the ratio of its accelerations?

        A:-1:2

        B:-2:1

        C:-1:4

        D:-4:1

        Correct Answer:- Option-C

Question47:-Image formed by a concave mirror

        A:-is always real

        B:-is always virtual

        C:-is certainly real if object is virtual

        D:-is certainly virtual if object is real

        Correct Answer:- Option-C

Question48:-What is IRNSS?

        A:-Lunar Probe

        B:-Navigation satellite

        C:-Military satellite

        D:-None of the above

        Correct Answer:- Option-B

Question49:-Heterocyclic ring structure present in Lobeline

        A:-Quinoline

        B:-Pyrrolidine

        C:-Isoquinoline

        D:-Piperidine



        Correct Answer:- Option-D

Question50:-Calculate pH for 0.1M NaOH solution

        A:-10

        B:-13

        C:-1

        D:-7

        Correct Answer:- Option-B

Question51:-Consider the elements N, P, O and S arrange them in the order of
increasing negative electron gain enthalpy

        A:-N < P < O < S

        B:-S < O < P < N

        C:-N < P < S < O

        D:-P < N < O < S

        Correct Answer:- Option-C

Question52:-Outer most orbital of nihonium contain _________ electrons

        A:-7

        B:-6

        C:-6

        D:-7

        Correct Answer:- Option-D

Question53:-Which of the following is/are correct statement with respect to the art
form 'Chavittunatakam'?
(i)    it is a theatrical art developed under the auspices of the Church in Kerala
(ii)   its object is to present Christian or Biblical themes
(iii)  it had its debut at Ettumanoor
(iv)  Vedanayakam Pillai contributed much to its developed in the formative stage.
Select the correct statements from the codes given below :

        A:-only (i) and (ii)

        B:-only (i), (ii) and (iii)

        C:-only (i), (ii) and (iv)

        D:-only (i), (iii) and (iv)

        Correct Answer:- Option-C

Question54:-The first Winter Olympics was held in

        A:-Athens, Greece in 1896

        B:-Paris, France in 1900

        C:-Chamonix, France in 1924

        D:-Moritz, Switzerland in 1928

        Correct Answer:- Option-C



Question55:-Which among the following is the national game of Bulgaria?

        A:-Weightlifting

        B:-Water Polo

        C:-Badminton

        D:-Dandi Biyo

        Correct Answer:- Option-A

Question56:-Among the following statements which is/are correct about the
Manipravalam' literary language?
(i)    It contains a judicious mixture of Malayalam and Sanskrit words
(ii)   It contains a judicious mixture of Malayalam and Tamil words
(iii)  Tolan is the earliest known poet in this language
(iv)  The earliest of the full-fledged Manipravalam works in 'Vaisikatantram'
Select the correct statements from the codes given below :

        A:-only (i) and (ii)

        B:-only (ii) and (iii)

        C:-only (i), (ii) and (iii)

        D:-only (i), (iii) and (iv)

        Correct Answer:- Option-D

Question57:-The Mattancherry Palace was originally built by

        A:-The Dutch

        B:-The Portuguese

        C:-The French

        D:-The British

        Correct Answer:- Option-B

Question58:-Ashleigh Barty, recently announced her retirement from Professional
tennis tournaments. Which among the following statements is/are incorrect about
Barty?
(i)    She is an Australian
(ii)   She won the Wimbledon Grand Slam Tournament in 2020
(iii)  She won the Australian Open Tennis Championship in 2021
(iv)  At the time of retirement, she was the world number one women tennis player
in WTA ranking.
Select the incorrect statements from the codes given below :

        A:-only (i)

        B:-only (ii) and (iii)

        C:-only (i) and (iv)

        D:-none of them are incorrect

        Correct Answer:- Option-B

Question59:-Mission Indradhanush, a special drive to vaccinate all unvaccinated
and partially vaccinated children, was originally started in the year



        A:-December 2014

        B:-October 2017

        C:-February 2021

        D:-February 2022

        Correct Answer:- Option-A

Question60:-Which among the following is not the function of operating system?

        A:-loads programs into the computer's memory

        B:-coordinates how programs work with the computer's hardware and other
software

        C:-manages the way information is stored on and retrieved from disks

        D:-translates high level language programs to machine level programs

        Correct Answer:- Option-D

Question61:-The hostname of the server that houses the object in the following URL
is
http://www.abc.edu/dept1/picture.gif

        A:-http://www.abc.edu

        B:-www.abc.edu

        C:-/dept1/picture.gif

        D:-abc.edu/dept1/picture.gif

        Correct Answer:- Option-B

Question62:-With reference to IT Act 2000, identity theft is

        A:-By means of any communication  device or computer resource cheats by
personation

        B:-Cause the denial of access to any person authorised to access computer
resource

        C:-Fraudulently or dishonestly make use of the electronic signature or
password of any other person

        D:-Attempting to penetrate or access a computer resource without
authorisation or exceeding authorised access

        Correct Answer:- Option-C

Question63:-List the following applications in the ascending order of Generations of
Mobile networks
(i)   Use GPRS handsets to buy metro tickets
(ii)   Send multimedia messages
(iii)  Multiple User Video Conferencing
(iv)   Augmented reality for vehicle maintenance
(v)    Use phone in a car

        A:-(v), (ii), (iii),(i), (iv)

        B:-(v), (ii), (iii), (iv), (i)

        C:-(v), (ii), (i), (iii), (iv)



        D:-(v), (ii), (i), (iv), (iii)

        Correct Answer:- Option-C

Question64:-The golden source that represent the universal understanding of the
current status of all units of the digital asset

        A:-Block chain

        B:-Bitcoin

        C:-Ether

        D:-Token

        Correct Answer:- Option-A

Question65:-Under the provision of the Right to Information Act, 2005, when it
comes to arising of any question in deciding as to the date from which the period of
20 years has to be computed regarding the disclosure of information, who is
considered as the final authority in deciding the same?

        A:-State Information Commission

        B:-Central Information Commission

        C:-Central Government

        D:-Both (2) and (3)

        Correct Answer:- Option-C

Question66:-Which of the following is not a specified objective of the Scheduled
Caste and the Scheduled Tribes (Prevention of Atrocities) Act, 1989?

        A:-to prevent the commission of offence of atrocities against the members of
scheduled castes and scheduled tribes

        B:-to provide for special courts for the trial of offences of Atrocities against the
members of the scheduled castes and scheduled tribes

        C:-the relief and rehabilitation of victims of offences of atrocities against the
members of the scheduled castes and the scheduled tribes

        D:-to prevent the commission offences of atrocities by the members of the
scheduled castes and the scheduled tribes

        Correct Answer:- Option-D

Question67:-The remedy available under the Maintenance and Welfare of Parents
and Senior citizens Act, 2007 for a senior citizen who transfer his property to
anyone on a condition to be taken care of by the transferee, if not received the care
as promised is

        A:-The transferee will be facing criminal liability

        B:-The transferor will be entitled to monetary compensation

        C:-The transferee will be facing civil liability

        D:-The transfer will be void

        Correct Answer:- Option-D

Question68:-A complaint filed by an aggrieved woman under the Sexual
Harassment of Women at Workplace (Prevention, Prohibition and Redressal) Act,



2013 shall not be tried by which of the following courts?

        A:-Judicial magistrate of first class

        B:-Judicial magistrate of second class

        C:-Metropolitan Magistrate

        D:-None of the above

        Correct Answer:- Option-B

Question69:-Under the Protection of Children from Sexual Offences Act, 2019
storage, transmitting, propagating, displaying or distributing of pornographic
material featuring a child except the storage of the same for the purpose of
producing before a court of law as an evidence, is punishable

        A:-with imprisonment for a term which may extend to one year or with fine or
withboth

        B:-with imprisonment for a term which may extend to two years or with fine or
with both

        C:-with imprisonment for a term which may extend to three years or with fine
or with both

        D:-with imprisonment for a term which may extend to four years or with fine or
with both

        Correct Answer:- Option-C

Question70:-Who among the following Supreme Court Judges had delivered a
dissenting judgement in the recent Supreme Court decision on - Janhit Abhiyam v/s
Union of India (EWS quota judgement)?

        A:-Justice S. Ravinidra Bhat

        B:-Justice. Dinesh Maheshwari

        C:-Justice. Bela Trivedi

        D:-Justice J.B. Pardiwala

        Correct Answer:- Option-A

Question71:-What is the value of 0.999×1.001?

        A:-9.99999

        B:-0.999999

        C:-99.9999

        D:-0.099999

        Correct Answer:- Option-B

Question72:-The average weight of 11 players of a school football team is 40 kg
and the weight of first player is 54 kg. Later it was found that his weight is only 43
kg. What will be the correct average weight of players?

        A:-39 Kg

        B:-40 Kg

        C:-41 Kg



        D:-43 Kg

        Correct Answer:- Option-A

Question73:-In a shop the seller announced 20% discount for shirts. He increased
the price of shirts by 40% before announcing the discount. Then the seller will get

        A:-a profit of 20%

        B:-a loss of 20%

        C:-a loss of 12%

        D:-a profit of 12%

        Correct Answer:- Option-D

Question74:-Which of the following numbers is a term of the progression 5, 9,
13,...?

        A:-

        B:-

        C:-

        D:-

        Correct Answer:- Option-B

Question75:-A train passes a platform of length 200 m in 15 seconds. It also passes
an electric post near by the railway line in 5 seconds. What is the speed of the
train?

        A:-35 Km/hr

        B:-45 Km/hr

        C:-72 Km/hr

        D:-90 Km/hr

        Correct Answer:- Option-C

Question76:-In a certain code "HELLO" is represented as "LIPPS". Which word is
represented as "XEPO" in the same code?

        A:-TALK

        B:-TOOK

        C:-LOOK

        D:-LOCK

        Correct Answer:- Option-A

Question77:-What is the angle between the hour and minute hands of a clock
showing the time 6:10?

        A:-130°

        B:-125°

        C:-120°

        D:-115°

        Correct Answer:- Option-B



Question78:-Which is the missing number in the series 99, 120, 143, 168, 195,...

        A:-214

        B:-234

        C:-224

        D:-204

        Correct Answer:- Option-C

Question79:-In a family, A is the son of B and C is a brother of B. Moreover C is a
son of D and E is the husband of D. Who is D to A?

        A:-father

        B:-mother

        C:-grandfather

        D:-grandmother

        Correct Answer:- Option-D

Question80:-What is the value of  25 + 35 ÷ 7 - (45 × -2) + 30 × 4?

        A:-90

        B:-240

        C:-600

        D:-90

        Correct Answer:- Option-B

Question81:-Transform the given active sentence to passive sentence :
The rose smells sweet.

        A:-The rose is smelt sweet

        B:-The rose is sweet smelling

        C:-The rose is sweet when it is smelt

        D:-Sweet smelling is the rose

        Correct Answer:- Option-C

Question82:-Give a one-word substitute for the phrase 'being well known in a
notorious way'.

        A:-imfamous

        B:-unfamous

        C:-infamous

        D:-non-famous

        Correct Answer:- Option-C

Question83:-Combine the two sentences using suitable connective clauses.
The old man would answer. The old man heard a question

        A:-whenever

        B:-whatever



        C:-whichever

        D:-however

        Correct Answer:- Option-A

Question84:-Substitute the words underlined with a suitable phrasal verb.
My computer is behaving strangely. I think it may have a virus

        A:-acting on

        B:-acting out

        C:-acting up

        D:-acting down

        Correct Answer:- Option-C

Question85:-Complete the following sentence using appropriate question tag.
I am in charge of the Reception, ...?

        A:-amn't I?

        B:-am I?

        C:-aren't I?

        D:-isn't I?

        Correct Answer:- Option-C

Question86:-Give the correct spelling of the word that means to describe something
that is constantly encountered

        A:-ubiqutous

        B:-ubiquitious

        C:-ubiquitos

        D:-ubiquitous

        Correct Answer:- Option-D

Question87:-Fill in the blanks using suitable articles
Thomas is __________ most intelligent student in the class

        A:-a

        B:-an

        C:-the

        D:-none

        Correct Answer:- Option-C

Question88:-What does the expression 'under the weather' mean?

        A:-Standing in the rain

        B:-feeling low

        C:-feeling bored

        D:-not in a good mood

        Correct Answer:- Option-B



Question89:-Fill in the blanks using appropriate form of the gerund given in
brackets.
George likes __________ (photograph) flowers.

        A:-to photograph

        B:-photographing

        C:-having photographed

        D:-being photographed

        Correct Answer:- Option-B

Question90:-Give the appropriate synonym of the word underlined
Having an unfailing attitude towards Nature is not advisable.

        A:-careless

        B:-callous

        C:-carefree

        D:-careful

        Correct Answer:- Option-B

Question91:-ക�ാടി എ� പദ�ിെൻറ സമാനപദം താെഴ പറ��വയിൽ ഏതാണ്?

        A:-ആദർശം

        B:-വ�കി

        C:-ഉടജം

        D:-ച�യാനം

        Correct Answer:- Option-A

Question92:-�റം േമാടി ക�് ഒ�ിെന�ം വിലയി���ത് എ� ആശയം വ�� പഴെ�ാ�് താെഴ
പറ��വയിൽ ഏ�മായി ബ�െ��ിരി��?

        A:-താണ നിലേ� നീേരാ�

        B:-വിള�ം പയർ �ളയിെല അറിയാം

        C:-അഴ�� ച�യിൽ �ളയി�

        D:-േവണെമ�ിൽ ച� േവരി�ം കാ�ം

        Correct Answer:- Option-C

Question93:-നിലവറ എ� പദം പിരിെ��തിയാൽ

        A:-നില + അറ

        B:-നിലം + അറ

        C:-നിലവ് + അറ

        D:-നിലവ + അറ

        Correct Answer:- Option-B

Question94:-താെഴ പറ��വയിൽ �ജക ബ�വചന�ിന് ഉദാഹരണേമത്?

        A:-അ��ാപകർ



        B:-സ�ാമികൾ

        C:-വിദ�ാർ�ികൾ

        D:-കവയി�ികൾ

        Correct Answer:- Option-B

Question95:-താെഴ പറ��വയിൽ ശരിയായ പദേമത്?

        A:-കാര��ൻ

        B:-കാര�സ്ധൻ

        C:-കാര�സ്ദൻ

        D:-കാര��ൻ

        Correct Answer:- Option-D

Question96:-മാട�ി എ�തിെൻറ �ീലിംഗ�പം താെഴ പറ��വയിൽ ഏതാണ്?

        A:-���

        B:-െക�ില�

        C:-േകാവില�

        D:-ഇേ�ാട�

        Correct Answer:- Option-B

Question97:-താെഴ പറ��തിൽ നിലാവിെൻറ പര�ായപദം അ�ാ�ത് ഏത്?

        A:-െകൗ�ദി

        B:-േജ�ാ�ന

        C:-ച�ിക

        D:-��ദം

        Correct Answer:- Option-D

Question98:-ഭവത് + പദം േചർെ��തിയാൽ

        A:-ഭവൽപദം

        B:-ഭവദ്പദം

        C:-ഭവധ്പദം

        D:-ഭവ�്പദം

        Correct Answer:- Option-A

Question99:-ഭ�ി�ാൻ ആ�ഹി��വൻ എ� പദ�ിെൻറ ഒ��ദം താെഴ പറ��വയിൽ ഏതാണ്?

        A:-�ജി�

        B:-േഭാഗി�

        C:-ദി��

        D:-���

        Correct Answer:- Option-D

Question100:-രഹിതം എ� പദ�ിെൻറ വിപരീതപദം ഏത്?



        A:-സഹിതം

        B:-മഹിതം

        C:-വ�ിതം

        D:-നി�ിതം

        Correct Answer:- Option-A


